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Note: (a)All questions are compulsory. - : ;
(b)Marks are indicated against each question in square brackels. gﬁ%:?:}%ﬁ

(c) The candidate is allowed to make Suitable numeric assumptions wherevefrgquired for

solving problems % 1‘%{““

o SN
Q1. Consider the given social network graph and find the ﬂmﬁﬁﬁges within the graph using
Girvan Newman algorithm, ’g [6]

Q3. Solve the given numerical using bloom filtering. Insert elements 10 and 7 in the bloom filter
of size 5.

Consider these two hash functions:

HI1(x)=x mod 5
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H2{x) = (2x+6) mod 5
Find the presence of element 14 and 15. [5]

Q4. Describe SON algorithm with its principle and how SON algorithm helps in finding frequent
itemsets in large datasets. (3]

Q4. Give the explanation of overlapping communities in social networks, Why is it impoptant to
identify overlapping communities, and what are some methods used to detect them? Providgan
example to illustrate your points. { . [4]

¢
Q5. Explain the difference between collaborative filtering and content-based recommefidations?

g
Q6. Assume you have a content-based recommendation system thaf suggeb{s movies to users
based on their genre preferences. Consider a user who has rated the fo 'Iéﬁjng movies:

Movie A: Comedy (rating; 4)
Movie B: Action (rating: 3)

Movie C: Comedy (rating: 5)

Movie X: Comedy
Movie Y: Action
Movie Z: Drama

!:‘:i»;""l'u & o . .
Using content-basgd r:a{é%nmendatlon, calculate the recommendation score for each of the
movies X, Y, qrug;d Z’*ﬂf“é"ﬁs;hé given user. Assume the recommendation score is calculated based on

genre similagity a]ﬁi;l %Séir’ ratings. (31
R T
07 Daffak tha sndeant of "Cannting Nictinet Bloments in a Stroam® with eafprencs o Aatn
streani-mi 1r?g : ’ [3]
J__"% “‘%‘;%"% )
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